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What is an arrag?

An OI’T’OH IS made UP Of rows OJ? equal gl”OUPS.
\/‘]6 can use€ COUHI?CFS, bric|<s or OI’IH OHWCF OlIZJCCITS I?O mo,|<e Ol'T'O/lj.

\/\Ie can draw arrags using Pictures or dofs.



Tl’liS s an arrag ITO ShOW Hue number sentence 4 + 4 + 4 = |2

There are 3 rOWS.

There are 4 COUI’IICCI”S In CO,C"l rOw. There are |2 counters

auogethen




Complete H’Ie sentences.

There are in eoch row.
There are rows.
- - - =

There are allogelher.



Complete H’Ie sentences.

There are 5 in eo,ch row.

The re are 4 rOws.

5o+ 5+ 5+ 5_=_220_

There are _20_ 0”093”’13!’.



Complete H’le sentences.

’ ‘ s ﬁ There are in each row.
W There are rows.

+ =

S +
-% There are auogelher.



Complete H’le sentences.

’ ‘ s ﬁ There are in each row.
W There are rows.

+__3__=_"1

-ﬁ There are auogelher.



Complete er sentences.
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There are in COCI’l rOw.

The re are rOws.

1 + =

There are

0”096”’13!’.



Complete er sentences.
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There are

There are

6__ +

There are

6__ in each row.

3__ rows.
6__+__6__=__18
18__ allogelher.




Reasoning

The matching number
sentenceis 5 + 5 + 5.

Q0000
Q0000
Q00009

Who do you agree with?
Explain your answer.

!

The matching number
sentence is 3 + 3 + 3.




Reasoning

The matching number ]

Q0000
Q0000
Q00009

Who do you agree with?
Explain your answer.

sentenceis 5 + 5 + 5.

The matching number
sentenceis 3 + 3 + 3.

Dom is correct.
There are 5 in each row and there are 3 rows.




' Problem
solving

What array could be built with 6 cubes?

Sagpig

Build, draw and describe the array.

4 A 4 A

or

I \_ / \_




- A ————
Problem
solving

What array could be built with 6 cubes?

Sagpig

Build, draw and describe the array.

-

~

I \2 in each row. 3 rows. /

or

4 A

\3 in each row. 2 rows. Y




TOSI( — use€ O[DJCCI? ITO ma|<e H’ICSG OI’T‘OHS ancl comp,

,€ HIG senfences.

There are 5 in COCh row.

TI‘ICI’C are 2 rows.

5+5=

There are 0”096”’18[‘.

There are IO in CQCh row.

There are 3 rows.

10 +10 + 10 =

There are auogeﬂler.

There are 2 in COCI'I row.

There are 3 rows.

2+2+2=

There are 0”096”’16[‘.

There are 3 in COCII row.

There are 4 rows.

There are auogelher.

There are 4 in COC|’1 row.

There are 4 rows.

There are allogelher.

There are 6 in COCh row.

There are 2 rows.

There are a”oge”mer.




Extension

MOI(G HOUI’ own O/I'T"O/l:jS and write er senfences ITO describe Hlem.

There are in COCI’I row.

The re are rows.

There are 0”?096”16!‘.




